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Question 1 of 49

Section A (20 marks) 
 
In which of the following numbers does the digit 8 stand for 800?

A) 5708

B) 5870

C) 7085

D) 8570

Question 2 of 49

In which of the following are the numbers arranged from the smallest to the greatest?

A) 1523, 1532, 1352

B) 1352, 1523, 1532

C) 1352, 1532, 1523

D) 1532, 1523, 1352
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Question 3 of 49

Which of the following fractions is in its simplest form?

A)

B)

C)

D)

Question 4 of 49

Which of the following decimals is the smallest?

A) 3.06

B) 3.14

C) 3.027

D) 3.203

Question 5 of 49

10.56x9= _____

A) 19.56

B) 90.04

C) 90.56

D) 95.04
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A) e

B) f

C) g

D) h
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Question 7 of 49

A) 16cm2

B) 20cm2

C) 25cm2

D) 27cm2

Question 8 of 49

A) 11

B) 25

C) 36

D) 45
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A) 7

B) 14

C) 21

D) 32
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Jame drew three straight lines such that there are both parallel and perpendicular lines in a
square grid. Which of the following are the lines that he drew?

A)

B)

C)



2 ptsPrimary 4 Math (Term 4)

2 ptsPrimary 4 Math (Term 4)

D)

Question 11 of 49

Section B: 50 marks 
 
Write sixty-seven thousand, eight hundred and ninety-five in figures.

Question 12 of 49

Some factors of 20 are 1, 2, 4 and 20. What are the other two factors of 20?\ 
 
___,___
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Question 13 of 49

4488/6=_____

Question 14 of 49

Question 15 of 49

Arrange the following fractions from the greatest to the smallest.

1. [    ] A. smallest

2. [    ] B. greatest

3. [    ] C. small
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Question 16 of 49

Question 17 of 49

Question 18 of 49

Round 27.65 to the nearest whole number
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Question 19 of 49

A) e

B) f

C) g

D) h

Question 20 of 49

The side of a square measures 7cm. What is the perimeter of the square?
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Question 22 of 49

Question 23 of 49

A wooden box with 5 identical books has a mass of 3.55kg. The mass of the wooden box is
1.25 kg when empty. What is the mass of each book?

Question 24 of 49

Kathy mixed 1.2L of orange juice with 0.95L of apple juice to make a bottle of fruit punch.
How many litres of fruit punch were there in three such bottles?
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Question 25 of 49

Question 26 of 49
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Question 27 of 49

Mrs Tan took 1h 45min to cook dinner. She finished cooking dinner at 6pm. What time did
she start cooking dinner? Give your answer in the 24-hour clock.

Question 28 of 49
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Question 29 of 49

Please type "done" to proceed to the next question

Question 30 of 49

David and Alice have a total of $240. Alice has twice as much money as David. How much
money must Alice give to David so that they will have the same amount of money?
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Question 31 of 49

John bought 8 identical markers. He gave the cashier $20 and received a change of $7.60.
What is the cost of one marker?

Question 32 of 49

10 identical ties and 6 identical shirts cost $60. 5 such ties cost as much as 3 such shirts.
What is the cost of one such shirt?

Question 33 of 49
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Question 34 of 49

 
Please type "done" to proceed to the next question

Question 35 of 49

Section C: 30 marks 
 
Sarah bought some pears and packed them into boxes of 15. After packing the pears into
125 such boxes, she had 7 pears left. 
 
A) How many pears did Sarah Buy
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Question 36 of 49

B) How many more pears must Sarah buy so that she can have 180 such boxes of pears?

Question 37 of 49

Question 38 of 49

b) How much would 12 such packets of coffee beans cost?
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Question 39 of 49

On a weekend, Ben spent a total of 3h 10 min revising for his English, Science and
Mathematics tests. He took 50 min to revise for his English test and 1h 25 min to revise for
his Science Test. 
 
a) How long did Ben take to revise for his Mathematic test?

Question 40 of 49

Please type "done" to proceed to the next question

Question 41 of 49

Question 42 of 49

b) How many more bookmarks did JoHn give to Bill than Alice.
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Question 43 of 49

Question 44 of 49

b) What is the greatest number of square Y that Ali could cut from rectangular cardboard X?

Question 45 of 49

Gina and Hazel had the same amount of money. After Gina spent $59 and Hazel spent $5,
Hazel had 4 times as much money left as Gina. Find the total amount of money Gina and
Hazel had altogether at first.
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Question 47 of 49

Question 48 of 49

b) A figure in the pattern has a total of 129 buttons. What is the figure number of that
pattern?

Question 49 of 49

c) How many sticks are there in Figure 17?


